
© Copyright 2019-2023 Domi Outdoor Living LLC. All Rights Reserved.

Missing Part?Damaged?Contact us via email at domiservice01@outlook.com.

Prior to assembly,please confirm all of the parts listed included. 

All bolts should be tightened before use.Maybe,you need allen wrench for 
assembly.

service@domioutdoorliving.com

Patio Chaise Lounge Chair Set
Assembly Manual



A B C D F

G I

2PCS

M6X30

E

S

M6X35
20PCS

1 2

6PCS 4PCS
M6X16

1PC

K POM

8PCS 18PCS

Q R

U V

2PCS 2PCS 2PCS 2PCS 2PCS 2PCS

H

2PCS

T

50PCS4PCS

4PCS

2PC

J

2X

W

4PCS 1X

X

M6X50
4PCS



C

D

E

F

M

D

C

D

B

B

K

G

O
C

B

A

A

3 4

5 6

7

M

T

R S

T

O

V

Q

T

T

T

A J

UM

8

T



2019-2023 Domi Outdoor Living LLC.  All Rights Reserved.

service@domioutdoorliving.com


